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(2) ERMERAERR
D= ELh#E (S02: FR1E)

1EREA | BFEs Tmnt | ERERLe
E=E N 0.1ppm% | 0.04ppm% Byl | Q04eemE KA
& g | AT | mm = 4 = 4 1B5fE B Bx-an I2&%

A s | R | PE | e | FOE | BRE | BXE gm0 JELE | BEEEA
DilIE BIERA BlFES X i5 B ; BFfEsLE B#e x5 2%BRHME s -

DE4 Z0ES Z0ES EfLT= 0.04ppm%

= = ZEDEE Bax-BH
B B ppm | BFfE | % =} % ppm ppm -8 =]
= TiEET = TEARR 100 % 353 8448 0.002 2 0.0 0 0.0 0.106 0.011 i 0
EREEER 97 = 352 8425 0.003 0 0.0 0 0.0 0.051 0.011 3 0
FERE T T R A2 P 97 * 328 7938 0.004 0 0.0 0 0.0 0.071 0.012 &= 0
ERFRER 97 = 174 4185 0.004 0 0.0 0 0.0 0.065 - 3 -
REBINER 97-2 #F 361 8654 0.002 0 0.0 0 0.0 0.033 0.006 &= 0
HMEH HMETIIEELE 97-2 2] 363 8713 0.003 1 0.0 0 0.0 0.101 0.013 i 0
MEARE 97-2 #£T 361 8646 0.003 0 0.0 0 0.0 0.077 0.012 i 0
=REr | BEOKYtrEa— 100 = 349 8372 0.003 0 0.0 0 0.0 0.063 0.009 i 0
- B R fRERT 100 % 324 8003 0.002 0 0.0 0 0.0 0.061 0.008 3 0
BIEINER 100 = 363 8637 0.002 0 0.0 0 0.0 0.044 0.007 i 0
™ MBEEE 100 X 356 8516 0.007 0 0.0 0 0.0 0.080 0.013 3 0
VT INMR PR 100 x 355 8514 0.002 0 0.0 0 0.0 0.077 0.008 i 0
FERE T FERBHR 97 £ 365 8713 0.004 2 0.0 0 0.0 0.108 0.015 = 0
M MHEBHER 100 [i5] 347 8326 0.001 0 0.0 0 0.0 0.080 0.005 i 0
LR 100 ] 365 8726 0.001 0 0.0 0 0.0 0.032 0.005 3 0
HEF 100 i 353 8432 0.003 0 0.0 0 0.0 0.069 0.007 " 0

=107

TRE 100 [E3 361 8613 0.004 1 0.0 0 0.0 0.106 0.013 i3 0
£B/NBHR 100 x 127 3071 0.001 0 0.0 0 0.0 0.053 - 3 -




_81__

@ —BtEHR. ZBIELERRUEREEY(NO, NO2, NO+NO2: £RF{E)

—E{LEZR (NO) ZEMEER (NO,) ZRMIEYW (NO+NO,)
| g 18t | SA || B FIIIAC VR
& . HE L LRA(E| B FigfE . : Z X : T 4{E PIEaTI~ S5
. Sy | M | ME | py |, |(WEUEIRESE) L vesmm | 22 | o200mut T | O9%PME | Loospem | FEIE | prmminm | o, |HEE| pgnpe FHfE
GeluE HIERA E-3 K] SR EiE | 0RE ) EigfE R Bzl Bzl N ) S EiiE | n&E
N X iz " DESIE D LD ' $10.06ppm% 98%{E NO,.”(NO+NO,)
DEH & 98%fE BFR% e " B#& % 98%1iE - % &
ZOEE BFRSE PN B#& Bal-B#
TR zoRE = zoEE
B B | ppm ppm ppm ppm ppm BRI | % |B5RE| % | B % | B| % ppm B ppm ppm ppm %
EREEEER 97 % 283 6771 | 0.001 | 0.030 0.003 0.003 0.021 0 [oo]|] o |Joo|[o]|] 00 [o0] 00 0.007 0.000 0.004 | 0.041 0.008 85.1
R FERE R AT 97 *x 335 8102 | 0.001 | 0.022 0.005 0.005 0.030 0 |00 0 |oo| o] 00 0| 00 0.009 0 0.006 | 0.046 0.012 78.5
EREERER 97 # 361 8641 | 0.001 | 0014 0.002 0.004 0.022 0 [oo]|] o Joo|fo]|] 00 [0] 00 0.008 0 0.004 | 0.034 0.009 85.5
REBPER 97-2 £ 355 8501 | 0.000 | 0.007 0.002 0.001 0.012 0 |oo| o [oo] o] 00 |o0] 00 0.003 0 0.002 | 0018 0.004 727
BRI BRI KELE 97-2 [i5] 363 8717 | 0.002 | 0.082 0.006 0.006 0.028 0o |00 0o [oo]of o0 [0] 00 0.012 0 0.008 | 0.103 0.017 75.9
HMEARE 97-2 #£T 356 8548 | 0.002 | 0.051 0.006 0.006 0.039 0o |00 0o [oo]of o0 [0] 00 0.013 0 0.008 | 0.071 0.017 774
EHEET | BEOYEVA— 100 * 319 7826 | 0.001 | 0.022 0.002 0.005 0.026 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.009 0 0.006 | 0.043 0.011 88.6
- B R RERR 100 * 261 6491 | 0.002 | 0.040 0.012 0.004 0.029 0o |00 0o [oo]of o0 [0] 00 0.008 0 0.006 | 0.056 0.017 65.8
SRR 100 * 363 8644 | 0.002 | 0.027 0.004 0.004 0.027 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.009 0 0.006 | 0.045 0.012 73.4
Ry Him=E 100 * 364 8679 | 0.001 | 0.064 0.006 0.004 0.030 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.009 0 0.005 | 0.082 0.014 75.7
R FERBHR 97 * 275 6927 | 0.006 | 0.070 0.015 0.009 0.061 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.018 0 0.015 | 0.105 0.029 57.9
Ry A=k 100 i3] 355 8506 | 0.016 | 0.200 0.035 0.014 0.049 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.023 0 0.030 | 0.242 0.055 46.1
fELR 100 i3] 357 8610 | 0.001 | 0.061 0.003 0.003 0.035 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.006 0 0.005 | 0.095 0.009 74.7
HE 100 * 182 4351 | 0.001 | 0.022 0.004 0.003 0.021 0 [oo]|] o Joo|[o]|] 00 [0] 00 — — 0.004 | 0.037 0.007 68.7
. TRE 100 * 364 8653 | 0.001 | 0.094 0.004 0.005 0.041 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.012 0 0.006 | 0.115 0.017 83.0
= 15
ETHEEHE 100 * 365 8700 | 0.006 | 0.075 0.014 0.010 0.048 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.018 0 0.016 | 0.105 0.032 63.0
EEBREHR 100 ] 365 8703 | 0.007 | 0.077 0.016 0.011 0.062 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.021 0 0.018 | 0.132 0.035 62.4
E=PIN=E: 35 100 * 365 8679 | 0.004 | 0.055 0.014 0.007 0.062 0 [oo]|] o Joo|[o]|] 00 [0] 00 0.020 0 0.011 | 0.099 0.034 62.1
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Q@ HIEFEAXTIF UM (Ox: ERIE)

BRED BRED
Rl A £ AH 5 AV
B | Bm | Emo | (SEES | AREEAC ) g | BEO
s . . ;; ma | ME | ME [1spEo| TP Sbo | 1EEE [ Lo
5,\|'_Hn | kk3 - £ = Y Ay n.. = s o = :
=3k =3k
B 5| ppm = =45 =] B R ppm ppm
=T FEmT SRR 100 F 330 4824 0.033 61 389 0 0.093 0.045
EREESR 97 £ 349 4703 0.023 7 19 0 0 0.073 0.032
ERTH
SiE [E) PR B2 e 97 *x 349 5149 0.025 40 169 0 0 0.080 0.039
- REBIPNER 97-2 F 365 5424 0.032 44 201 0 0 0.082 0.044
A
HEAREE 97-2 #T 357 5117 0.029 7 23 0 0 0.069 0.038
SiRET | BEOKYtEE— 100 F 355 5190 0.033 42 192 0 0 0.083 0.045
—_— HE &R 100 F 336 4866 0.034 52 244 0 0 0.084 0.047
HRNERR 100 F 365 5378 0.024 5 31 0 0 0.075 0.033
#ETH MHEE 100 P S 354 5177 0.024 7 26 0 0 0.072 0.035
= 100 F 365 5409 0.021 6 23 0 0 0.071 0.032
=]
A=PIN=E: 5] 100 P S 365 5415 0.019 0 0 0 0 0.057 0.028
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@ FEH R E (SPM: FREHE)

IERES | BTsEs A fans ot
BH%h e 0.2Omg/m3"¢' 0.10mg/m3"¢'— 1HRME| B ESE 0.10_mg/m E S
& e | BE | & e : g Baxt-AMN )
. o B BIE B FiiE BRI AT D= ) SR LLE B fE A
eI BIER% RIFRE3 X i3 B# ; =TE B & | 2%Brs\E s 3
DX ZNEA Z0EE EfELT- 0.10mg/m°%&
= = ZEDEHE Ba2-a%
B R R mg/m° R R % B % mg/m° mg/m° -8 H
FERE R PR 97 *x 308 7701 0.031 0 0.0 0.0 0.146 0.072 i 0
™ —
EEF SR 97 £ 246 5929 0.034 0 0.0 0 0.0 0.178 - i -
HEH BRI KELE 97-2 i 363 8732 0.016 0 0.0 0 0.0 0.136 0.038 i 0
SHRET | BEOKYtELE— 100 * 340 8305 0.019 0 0.0 0 0.0 0.095 0.042 i 0
- HrE&RERT 100 * 320 7999 0.018 0 0.0 0 0.0 0.125 0.042 i 0
RN 100 £ 195 4725 0.030 0 0.0 0 0.0 0.141 - i -
&Ry HEE=E 100 x 339 8352 0.018 0 0.0 0 0.0 0.170 0.042 i 0
INFATH INPRARBEFR 100 x 355 8576 0.018 0 0.0 0 0.0 0.090 0.051 i 0
R FERBHE 97 * 361 8691 0.024 0 0.0 0 0.0 0.139 0.058 i 0
g™ HPEHR 100 i 361 8674 0.026 0 0.0 0 0.0 0.122 0.054 i 0
ExXR 100 =] 319 7709 0.019 0 0.0 0 0.0 0.093 0.043 i 0
HE 100 £ 351 8443 | 0.022 0 0.0 0 0.0 0.123 0.043 Fid 0
wE 100 £ 338 8159 0.025 0 0.0 0 0.0 0.105 0.050 Fid 0
STEERHR 100 * 365 8744 0.031 0 0.0 0 0.0 0.124 0.060 i 0
EEEBHR 100 i 365 8747 | 0.032 0 0.0 0 0.0 0.137 0.063 Fid 0
EA=pN=E:T5) 100 x 358 8667 0.015 0 0.0 0 0.0 0.111 0.036 i 0
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® R FIRME (PM2.5: FfEE)

HIEHEMN 98%{iE ZT-1i
. AW | g BEE| 35pe/m’ s | 185R1E | B F1E IS&D
. A B HAE E#F'Eﬁ EHE D BAl- D D B FEE
4 AIE B4 1l if\s Xig =L ‘ ST B EfE | 98%(E 35ug/m’%
DEH FOEE HAT-B#
= R ug/m> | pg/m® H % pg/m ug/m° H
=T FElT S TERER 100 E3 365 8747 13.8 42.4 7 1.9 84 34.7 0
FERE T R 97 P S 359 8660 17.4 478 12 3.3 88 38.7 5
#ETh MBS E 100 *x 98 2371 — 476 9 9.2 97 — —
INKRTH INRIEFR 100 *x 365 8744 15.2 448 10 2.7 107 36.9 3
Exm 100 5] 363 8722 14.1 39.5 5 1.4 71 32.6 0
H ¥ 100 F 348 8393 145 42.7 6 1.7 104 34.0 0
=50 TRE 100 E3 358 8671 15.4 42.7 7 20 62 33.3 0
STREEBHR 100 F 353 8464 15.7 42.7 7 2.0 86 35.0 0
=A=RIN=E: I5] 100 * 352 8508 13.8 43.2 3 0.9 70 31.6 0

X ERREFTAERDOT —2F. FR22EEM/NMIFROEPM2H)E=L2I TR ITERBRRER)DHERTHS.
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® —F&1E R 3R (CO: FREE)

SERES | BTMES 51?’9‘1? Eﬁﬁﬁ% 1 BB A¢
R A | g 20ppm% 10ppm% | 1BSRAE | BFi9fE| o PP i 30ppmLA £
. T | me | BE | g | THE| B2 Bzf- |omE| o PEBLL avmEs | EE0r
4 BIE D% BIE®S | oo Ay | T EEeS B¥s g |2BoME| e e ZEnBHD
DR zoma | zoma BT |9ppm A%
= = CEDHE HBar-A%

=| iSdi ppm E1 % =] % ppm ppm 78 =] A
ERE T FIEE B R 97 = 365 8735 0.5 0 0.0 0 0.0 16 0.9 i 0 0
] B BB 100 5] 353 8469 0.3 0 0.0 0 0.0 1.3 0.5 i 0 0
ETEEESHR 100 = 365 8708 0.4 0 0.0 0 0.0 14 05 i 0 0
=)0 EEBEHR 100 [i5] 364 8692 0.4 0 0.0 0 0.0 1.6 0.7 i 0 0
£ B/NEHRE 100 * 365 8709 0.3 0 0.0 0 0.0 1.1 0.4 3 0 0
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@ A2 ALK (NMHC : F£RE{E)

6~ 9fF

-~ g | 69 6~ 9 365 6~ OBFIBERI T 19 1E | 6~ OBF3BERI TFME

) o Hi& E‘:'ff'ﬁ BIE | EHE| 2B8ITS EE $30.20ppmC%EFE % = | H30.31ppmCEFBZ 7=

LEE BIERE BRES | i Rl I =E FHiE BHEzOEE|(BHETNDESA

oxs | BE
e e | xIEE

R H ppmC ppmC ppmC ppmC H % H %
ERE T FEFEREFR 97 * 7653 313 0.14 0.14 0.34 0.07 26 1 0.3
Hmrh REBINER 97-2 E3 7980 328 0.06 0.06 0.18 0.03 0 0.0 0 0.0
ERE T HERBHR 97 E3 8501 343 0.12 0.13 0.29 0.06 13 3.8 0 0.0
R I BEHER 100 ] 6464 | 270 0.11 0.14 0.30 0.03 49 18.1 0 0.0
ESTREEEHR 100 E3 8633 362 0.09 0.09 0.27 0.01 4 1.1 0 0.0
=501 AEEEEEE 100 4] 8682 365 0.10 0.12 0.38 0.02 20 5.5 2 0.5
cA=PIN=E:35] 100 *x 8682 365 0.11 0.10 0.17 0.05 0 0.0 0 0.0
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A2 R UL RIEIKE (CH4, THC: FERA{E)

A% (CH,) £k 1£/KF*E(CH,+NMHC)
N gy | 6798 6~ 9fF 6~ 9FF
4 A B4 szgs | PE |80 5E s it f;ﬂffn?a FH{E i %E?’JFEE
X5 B El
DX5 Fi9fE Fi9fE
B | RIEE = (B | RIEfE
i ] H ppmC | ppmC | ppmC | ppmC | ppmC | ppmC | ppmC | ppmC
S [ h 3IE iE) R 12 P 97 ES 7653 | 313 1.88 1.89 222 | 173 | 203 2.03 255 | 1.85
BT REBNER 97-2 * 7980 | 328 1.91 1.91 220 | 163 | 1.96 1.97 229 | 1.68
S [ th R BHEE 97 * 8501 | 343 1.93 1.95 221 | 171 | 205 2.08 245 | 1.81
#hy #hi B HE 100 ] 6464 | 270 1.97 2.07 253 | 1.74 | 207 2.20 274 | 1.77
aTEEEER 100 * 8633 | 362 1.93 2.00 237 | 167 | 202 2.09 254 | 1.70
=0 AEIREHRE 100 ] 8682 | 365 1.90 1.93 213 | 1.71 | 2.00 2.05 231 | 1.78
cH=RIN=E: 35 100 * 8682 | 365 1.91 1.94 221 | 1.74 | 202 2.05 231 | 1.80




